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(Question): What two departments in an organization collaborate when 

development operations methods are applied? 

 

(A): Software development and IT operations 

(B): Management and IT operations 

(C): IT operations and Products and services 

 

(Correct): A 

 

 

(Question): DevOps is a  

 

(A): Culture 

(B): Process 

(C): Role 

(D): Team 

 

(Correct): A 

 

 

(Question): The origins of the DevOps trace back to when 

 

(A): 2010 

(B): 2009 

(C): 2008 

(D): 2006 

 

(Correct): B 
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(Question): Which of these is not a principle of DevOps? 

 

(A): Rewarding firefighting 

(B): Resilient Engineering 

(C): Amplifying of feed back loops 

(D): Reduction of Tech Debt 

 

(Correct): A 

 

 

(Question): Which of these statements are true 

 

(A): DevOps looks to extend Dev into Production 

(B): DevOps looks to embed Development into IT Operations 

(C): DevOps looks to embed IT Operations into Development 

(D): All of the above 

 

(Correct): D 

 

 

(Question): Which of these accurately describes the term "DevOps?" 

 

(A): DevOps is a cultural approach to improving communications between the 

development and operations teams in an organization 

(B): DevOps is the term describing someone who moderates the exchanges 

between development and operations 

(C): DevOps is the name of a job for an employee who can work as both a 

systems engineer and a developer 

(D): All of the above 

 

(Correct): A 
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(Question): The DevOps movement is an outgrowth of which software 

development methodology? 

 

(A): Agile 

(B): Scrum 

(C): Extreme Programming (XP) 

(D): TDD and MDD 

 

(Correct): A 

 

 

(Question): Which of the following drives the adoption of DevOps? 

 

(A): Non-use of development processes and methods 

(B): Ignoring the need for increased production 

(C): Increased usage of data center automation and configuration management 

tools 

(D): Unavailability of virtualized infrastructure from providers 

 

(Correct): C 

 


